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T X HT 4 e ESRN HE R T % I = H & R
FEIX 0.9 0.2 0.7 0.6 -4.3
141, 100 405, 000 90, 500 241, 300 11, 000
23 23 15 15 1 1 39 39 1 1
A X -1.4 0.2 -1.8 -0.9
112, 600 187, 700 88, 500 132, 200
16 14 8 8 3 3 27 25
TEAKX -2.0 -1.8 -2.1 -2.0
88, 500 129, 900 66, 300 95, 600
22 22 8 8 4 4 34 34
R i -0.7 -0.3 -1.7 -0.7 -4.3
114, 700 277, 900 77, 700 162, 300 11, 000
61 59 31 31 8 8 100 98 1 1
GETFS 0.7 0.4 0.6
89, 100 184, 500 129, 600
23 22 17 17 40 39
WX -0.1 0.0 0.0
70, 900 98, 000 53, 600 75, 800
9 9 3 3 1 13 12
THIX -2.5 -4.1 -2.8 -3.9
55, 000 58, 000 55, 500 980, 000
11 11 2 2 13 13 1 1
X -2.8 -1.4 -2.6
56, 100 81, 500 44, 000 56, 100
11 11 1 2 2 14 13
E[azs -2.2 -1.0 -1.7 -2.2
36, 300 53, 200 42, 400 624, 000
7 7 4 4 11 11 2 2
EALX 0.6 0.0 0.5
60, 400 84, 300 63, 800
6 6 1 1 7 7
KX -3.7 -3.3 -3.6 -2.0
12, 000 27, 400 16, 200 28, 900
8 8 3 2 11 10 1 1
AN S -1.1 -0. 4 -1.4 -0.9 -2.6
61, 600 129, 300 47, 200 80, 500 564, 200
75 74 31 29 3 2 109 105 4 4
VAT 2.4 =3.2 =0.9 -2.5 0.0
90, 500 190, 100 54, 000 112, 900 550, 000
25 25 8 8 1 1 34 34 1 1
ENIfE -1.2 =0.9 -1.2 0.0
56, 500 116, 300 72, 800 163, 000
8 8 3 3 11 11 1 1
=B 0.5 =0.2 0.3 0.0
109, 000 201, 000 135, 300 1, 200, 000
10 9 4 4 14 13 1 1
B L -1.7 -2.2 0.4 -1.7 =2.2
40, 600 75, 900 29, 500 45, 200 500, 500
26 25 5 5 2 2 33 32 2 2
i -0.6 -0.9 -0.8 -1.3
35, 500 95, 400 73, 000 148, 000
3 3 5 5 8 8 1 1
Emi =2.0 -2.8 0.6 2.1 —2.0
54, 100 66, 900 32, 700 55, 900 490, 000
11 10 4 4 1 1 16 15 1 1
Rt -1.2 -1.3 0.3 -1.2 0.3
66, 500 88, 800 39, 700 70, 100 375, 000
34 34 10 10 2 2 46 46 1 1
e -2.3 -3.3 “14.1 =3.0 2.1
48, 300 67, 000 17, 000 51, 500 950, 000
18 18 6 6 1 1 25 25 1 1
BEEE T -3.6 -5.9 -3.8
57, 000 73, 100 58, 900
15 15 2 2 17 17
BH 2.1 —2.5 “1.7 -2.2 2.1
43,800 70, 900 29, 000 51, 600 940, 000
12 12 6 6 1 1 19 19 1 1
JEEEL T -1.0 -1.1 0.0 ~1.0 2.3
60, 700 77, 000 45,500 63, 700 210, 000
16 16 5 5 1 1 22 22 1 1
TR T 0.0 -1.0 0.0 0.1 =0.7
68, 000 99, 000 26, 400 67, 100 268, 000
10 10 1 1 1 1 12 12 1 1
Rl -1.7 -1.3 -1.7 -1.6
40, 400 51, 000 35, 400 42, 600
8 8 3 3 1 1 12 12
T =0.4 =3.1 -1.8
56, 300 95, 300 69, 300
2 1 1 1 3 2
T 0.3 0.0 0.0 0.3 0.0
74, 600 120, 000 42,700 76, 000 125, 000
8 8 1 1 1 1 10 10 1 1
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T X HT A4 £ = i i LA Hi HEE A BN ARH
TG =3.1 =2.0 -1.6 =2.9 1.1
53, 000 84,700 24, 500 53, 400 1, 180, 000
6 5 1 1 1 1 8 7 1 1
FreEh 3.1 -2.5 -2.9 -2.3
41, 400 65, 100 50, 000 42,000
7 7 4 4 11 11 1 1
TR —2.4 -2.4 —2.4
16, 900 28, 000 19, 100 400, 000
4 4 1 5 4 1 1
51T 0.8 2.1 -1.2
26, 400 66, 500 36, 500
3 3 1 1 4 4
FOOET =0.5 =0.7 0.6
68, 500 97, 400 77, 200
7 7 3 3 10 10
Wz R T -3.5 =6.7 -1.8 -1.38 -2.6
36, 400 39, 000 21, 600 34, 800 1, 130, 000
3 3 2 2 1 1 6 6 1 1
T = -1.6 =2.1 -1.9 -1.38 -1.6
59, 700 96, 300 33, 400 67, 100 539, 500
236 231 76 75 14 14 326 320 17 17
B e izl -1.4 -1.3 -1.8 -1.4 -1.9
69, 100 144, 500 49, 200 87, 600 520, 000
372 364 138 135 25 24 535 523 22 22
EREEA =3.0 =3.0 =3.0 =0.9
38, 800 69, 000 48, 800 106, 000
2 2 1 1 3 3 1 1
A FERT —2.1 =3.2 =2.1 =3.2
26, 200 45, 000 32, 400 30, 000
2 2 1 1 3 3 1 1
A Gt LT 5.4 =5. 4
18, 100 18, 100
2 2 2 2
TR T 5.4 6. 1 5.6
28, 800 44, 800 34, 100
2 2 1 1 3 3
TE Ot ST 5.9 5.1 5.7
32, 700 55, 400 37, 300
4 4 1 1 5 5
P e W 0.7 0.0 0.6 =2.0
93,700 110, 000 96, 400 490, 000
5 5 1 1 6 6 1 1
15 KT 0.3 -0.7 0.0
113, 100 139, 000 119, 600
3 3 1 1 4 4
R SRHT 0.7 0.0 0.5
104, 100 133, 000 109, 900
4 4 1 1 5 5
AN 2.1 -1.5 =2.0
35, 900 52, 200 37,900
7 7 1 1 8 8
B0 -4. 4 -8.1 -5.6
41, 800 41,100 41, 600
2 2 1 1 3 3
TIARART =2.2 -2.5 =2.2
12, 500 27, 800 15, 500
4 4 1 1 5 5
F -1.0 -1.0 -1.0
30, 400 41, 600 34, 100
2 2 1 1 3 3
TSR] 2.1 —2.8 =2.3 =2.0
51,900 69, 000 55, 700 208, 700
39 39 11 11 50 50 3 3
Py =F -1.5 -1.4 -1.8 -1.5 -1.9
67, 500 138, 900 49, 200 84, 900 482, 600
411 403 149 146 25 24 585 573 25 25
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